O HETRE

Multiply by powers of ten (missing number)

Name:

6.838 x

= 68.38

6.43 x

3.758 X

=643

= 3758

7.256 x

= 7256

8.149 x

=814.9

10.445 %

10.898 x

1.863 x

=1044.5

= 10898

= 18.63

9.396 x

=939.6

=59

Date: Score:

4211 x =42.11
9318 x =093.18
4,949 x =49.49
10.88 % = 10880
9.573 X =095.73
90.299 x = 02.99
8.418 % = 8418
6.425 X = 6425
90487 % = 048.7
7.97 X =79.7
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Multiply by powers of ten (missing number)

Name: Date: Score:
6.838 x 10 = 68.38 4211 x10=42.11
6.43 x 10 = 64.3 9.318 x 10 = 93.18
3.758 x 1000 = 3758 4.949 x 10 = 49.49
7.256 x 1000 = 7256 10.88 x 1000 = 10880
8.149 x 100 = 814.9 9.573 x 10 = 95.73
10.445 x 100 = 1044.5 9.299 x 10 = 92.99
10.898 x 1000 = 10898 8.418 x 1000 = 8418
1.863 x 10 = 18.63 6.425 x 1000 = 6425
9.396 x 100 = 939.6 9.487 x 100 = 948.7
59x10=1359 7.97 %10 ="79.7
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